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 x……®……ΔEÚ Roll No. 
  

 
 

      

 

No. of Questions — 20 SS—86–Agronomy  

No. of Printed Pages — 7 
 

 =SS… ®……v™… ®…EÚ {…Æ˙“I……, 2011  
SENIOR SECONDARY EXAMINATION, 2011 

¥…ËEÚŒ±{…EÚ ¥…M…« IV — EfiÚ π… (OPTIONAL GROUP IV — AGRICULTURE) 
∫…∫™…  ¥…Y……x… 

 ( AGRONOMY ) 

∫…®…™… :  3
4

1

 
P…h]‰ı 

{…⁄h……»EÚ : 48 
 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ̆∂… : 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 
paper compulsorily. 

 2. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… 
Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & 
English versions of the question paper, the question of Hindi 
version should be treated valid. 

 3. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩĘ̀* |…∂x… GÚ®……ΔEÚ 19 ¥… 20 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 

All the questions are compulsory. There are internal choices in 
Question Nos. 19 and 20. 

 4. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â * 

  Write the answer to each question in the given answer-book only. 
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 5.  V…∫… |…∂x… E‰Ú BEÚ ∫…‰ + v…EÚ ∫…®……x… +ΔEÚ ¥……±…‰ ¶……M… ΩĘ̀, =x… ∫…¶…“ ¶……M……Â EÚ… Ω˛±… BEÚ 

∫……l… ∫…i…i…¬  ±…J…Â* 
  For questions having more than one part carrying similar marks, 

the answers of those parts are to be written together in 
continuity. 

 6. |…∂x… GÚ®……ΔEÚ 1 E‰Ú S……Æ˙ ¶……M… ( i, ii, iii i…l…… iv) ΩÈ˛* |…i™…‰EÚ ¶……M… E‰Ú =k…Æ˙ E‰Ú S……Æ˙ 

 ¥…EÚ±{… (+, §…, ∫… B¥…Δ n˘ ) ΩĘ̀* ∫…Ω˛“  ¥…EÚ±{… EÚ… =k…Æ˙…I…Æ˙ =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â 

 x…®x……x…÷∫……Æ˙ i…… ±…EÚ… §…x……EÚÆ˙  ±…J…Â : 

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 

has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below : 

 |…∂x… GÚ®……ΔEÚ 
Question No. 

∫…Ω˛“ =k…Æ˙ EÚ… GÚ®……I…Æ˙ 
Correct letter of 

the Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

 
1. (i) V…“Æ‰˙ EÚ“ °Ú∫…±… E‰Ú  ±…B §…“V… ®……j…… |… i… ΩĘ̈C]Æ˙ Ω˛…‰x…“ S…… Ω˛B 
  (+) 15  EÚO…… (§…) 25  EÚO…… 

  (∫…) 35  EÚO…… (n˘) 45  EÚO…… * 

  The seed rate per hectare required for cumin crop is  

  (A) 15 kg (B) 25 kg 

  (C) 35 kg (D) 45 kg. 
2
1   
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 (ii)  x…®x… ®…Â ∫…‰ ®……‰̀ ˆ EÚ“ =z…i…  EÚ∫®… EÚ…Ëx…-∫…“ ΩË ?  

   (+) EfiÚπh…… (§…) ]ı“-9 

   (∫…) V… c˜™…… (n˘) §…Æ˙J…… *  

   Which of following is an improved variety of mothbean ?  

   (A) Krishna (B) T-9 

   (C) Jadiya (D) Barkha. 
2
1   

 (iii) ®…Ω÷̨+… EÚ“ J…±…“ ®…Â {……™…… V……x…‰ ¥……±…… Æ˙∫……™…x… ΩĘ̈ ˛ 

   (+)  ∫…x… O…x… (§…) +…Ï ±…™……‰Æ‰˙ V…x… 

   (∫…) ∫…‰{……‰ x…x… (n˘) +V…‰b˜“Æ‰˙ C]ıx… * 

   The chemical found in Mahua seed cake is 

   (A) Sinnigrin (B) Oleorazin 

   (C) Seponin (D) Azadiractin. 
2
1  

 (iv)  x…®x… ®…Â ∫…‰ S……Ëc˜“ {…k…“ ¥……±…… J…Æ˙{…i…¥……Æ˙ EÚ…Ëx…-∫…… ΩË ?˛ 

   (+) °ËÚ±…‰ Æ˙∫… ®……<x…Æ˙ (§…) {™……V…“ 

   (∫…) §…l…÷+… (n˘) ®……‰l…… * 

  Which of the following is broad leaved weed ? 

   (A) Phalaris minor (B) Pyaji 

   (C) Bathua (D) Motha. 
2
1  

2. ∫……{…‰I… J…Æ˙{…i…¥……Æ˙ EÚ… EÚ…‰<« BEÚ =n˘…Ω˛Æ˙h… n˘“ V…B *  

 Give an example of the relative weed.  
2
1  

3.  EÚ∫… °Ú∫…±… EÚ…‰ EËÚ®…±… GÚ…Ï{… E‰Ú x……®… ∫…‰ V……x…… V……i…… ΩĘ̈ ?  

 Which crop is known as camel crop ? 
2
1    
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4. S……¥…±… EÚ“  EÚ∫…“ BEÚ =z…i…  EÚ∫®… EÚ… x……®…  ±… J…B *  

 Write down the name of any one improved variety of Rice.  
2
1   

5. BEÚ  EÚ±……‰O……®… °Ú∫…±… §…“V……Â EÚ…‰ ={…S…… Æ˙i… EÚÆ˙x…‰ Ω‰˛i…÷ ]≈ı…<EÚ…‰b˜®……« EÚ“ ®……j……  ±… J…B *  

 Write about the quantity of trichoderma for the treatment of one 

kilogram crop seed. 
2
1  

6. {…“.B∫….§…“. EÚ… {…⁄Æ˙… x……®…  ±… J…B *  

 Write the full form of P.S.B. 1 

7. EfiÚ π… {…ΔS……ΔM… EÚ… ®…⁄±… +…v……Æ˙ C™…… ΩË ?  

 What is the main basis of Krishi Panchang ?  1 

8. ®…fin˘… I…Æ˙h… B¥…®…¬ ®…fin˘… ∫…ΔÆ˙I…h… ®…Â +Δi…Æ˙ ∫{…π]ı EÚ“ V…B *  

 Differentiate between the soil erosion and soil conservation. 2 

9. |…®…… h…i… §…“V… EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B *  

 Define the certified seed. 2 

10. M…z…‰ E‰Ú §…“V… ={…S……Æ˙ EÚ“  ¥… v…  ±… J…B *  

 Write down the method of seed treatment of sugarcane. 2 

11. ®…fin˘… =i{……n˘EÚi…… ∫…‰ C™…… + ¶…|……™… ΩË ? <∫…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰  EÚxΩ˛” n˘…‰ EÚ…Æ˙EÚ…Â EÚ… ¥…h…«x… 

EÚ“ V…B *  

 What is meant by soil productivity ? Describe any two factors affecting 

it.  1 + 2 = 3 

12. EÂÚS…÷+… J……n˘ i…Ë™……Æ˙ EÚÆ˙x…‰ EÚ“  ¥… v… EÚ… ¥…h…«x… EÚ“ V…B *  

 Describe the method of vermi compost preparation. 3 

13. ¶……Æ˙i… ®…Â V…Ë ¥…EÚ J…‰i…“ E‰Ú ®…Ω˛i¥… EÚ…‰ ∫{…π]ı EÚÆ˙x…‰ ¥……±…‰  EÚxΩ˛” i…“x…  §…xn÷̆+…Â EÚ… ¥…h…«x… 

EÚ“ V…B *  

 Describe any three points that explain the importance of organic 

farming in India. 1 + 1 + 1 = 3 
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14. °Ú∫…±… EÚ“ V…±… ®……ƒM… ∫…‰ C™…… + ¶…|……™… ΩË ? <∫…‰ Y……i… EÚÆ˙x…‰ EÚ… ∫…⁄j… ¶…“  ±… J…B *   

 What is meant by water requirement of crop ? Write also the formula 

to determine it. 2 + 1 = 3 

15. J…Æ˙{…i…¥……Æ˙ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B * J…Æ˙{…i…¥……Æ˙…Â ∫…‰ °Ú∫…±……Â EÚ…‰ Ω˛…‰x…‰ ¥……±…“ S……Æ˙ Ω˛… x…™……Â EÚ… 

=±±…‰J… EÚ“ V…B *  

 Define weed. Write any four losses caused by the weeds to crops. 

    1 + 2 = 3 

16. ®…⁄ΔM… EÚ“ °Ú∫…±… Ω‰˛i…÷ n˘…‰ =z…i…  EÚ∫®…Â, §…÷¥……<« EÚ… ={…™…÷HÚ ∫…®…™… ¥… +Δi…Æ˙h…, §…“V… ®……j…… ¥… ={…V… 

|… i… ΩË˛C]ıÆ˙  ±… J…B *   

 Write down the two improved varieties, sowing time and spacing, seed 

rate and yield per hectare of green gram. 
2
1  + 

2
1  + 

2
1

 
+ 

2
1  + 

2
1  + 

2
1  = 3  

17.  x…®x… °Ú∫…±……Â EÚ“ §…“V… ®……j…… |… i… ΩË˛C]ıÆ˙  ±… J…B :  

 i) M…‰Ω⁄˛ƒ ii) S…x…… 

 iii) v… x…™…… iv) i…®§……E⁄Ú 

 v) V¥……Æ˙ vi) ∫…Æ˙∫……Â *  

 Write the seed rate per hectare of the following crops : 

 i) Wheat ii) Gram 

 iii) Coriander iv) Tobacco 

 v) Sorghum vi) Mustard. 6  ×
2
1  = 3 

18. ∫…Ω˛S…Æ˙ ¥… Æ˙I…EÚ °Ú∫…±… ®…Â +Δi…Æ˙ ∫{…π]ı EÚ“ V…B *  ®… ∏…i… °Ú∫…±… E‰Ú EÚ…‰<« UÙ:  ∫…r˘…Δi……Â EÚ… 

¥…h…«x… EÚ“ V…B *  

 Differentiate between the companion and guard crops. Describe any 

six principles of Mixed cropping. 2 + 3 = 5 
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19. ®…CEÚ… EÚ“ =z…i… J…‰i…“ EÚ… ¥…h…«x…  x…®x…  §…xn÷̆+…Â E‰Ú +…v……Æ˙ {…Æ˙ EÚ“ V…B : 

 i) n˘…‰ =z…i…  EÚ∫®…Â 

 ii) §…“V… n˘Æ˙ |… i… ΩË˛C]ıÆ˙ ¥… §…÷¥……<« EÚ… ∫…®…™… 

 iii) §…“V… ={…S……Æ˙ 

 iv) J……n˘ ¥… =¥…«Æ˙EÚ |…§…xv… 

 v) EÚ]ı…<« ¥… ={…V… |… i… ΩĘ̈C]ıÆ˙ * 

+l…¥…… 

 +Æ˙Ω˛Æ˙ EÚ“ =z…i… J…‰i…“ EÚ… ¥…h…«x…  x…®x…  §…xn÷̆+…Â E‰Ú +…v……Æ˙ {…Æ˙ EÚ“ V…B :  

 i) n˘…‰ =z…i…  EÚ∫®…Â 

 ii) §…“V… n˘Æ˙ |… i… ΩË˛C]ıÆ˙ ¥… §…÷¥……<« EÚ… ∫…®…™… 

 iii) §…“V… ={…S……Æ˙ 

 iv) J……n˘ ¥… =¥…«Æ˙EÚ |…§…xv… 

 v) EÚ]ı…<« ¥… ={…V… |… i… ΩĘ̈C]ıÆ˙ *  

 Describe the improved Maize cultivation method under the following 
points : 

 i) Two improved varieties. 

 ii) Seed rate per hectare and time of sowing. 
 iii) Seed treatment. 

 iv) Manure and Fertilizer management. 
 v) Harvesting and yield per hectare. 

OR 
 Describe the improved pigeon pea cultivation method under the 

following points : 
 i) Two improved varieties. 

 ii) Seed rate per hectare and time of sowing. 
 iii) Seed treatment. 

 iv) Manure and Fertilizer management. 
 v) Harvesting and yield per hectare. 1 + 1 + 1 + 1 + 1 = 5 
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20. ∫……‰™……§…“x… EÚ“ =z…i… J…‰i…“ EÚ… ¥…h…«x…  x…®x…  §…xn÷̆+…Â E‰Ú +…v……Æ˙ {…Æ˙ EÚ“ V…B : 

 i) n˘…‰ =z…i…  EÚ∫®…Â 

 ii) §…÷¥……<« EÚ… ∫…®…™… ¥… §…“V… n˘Æ˙ |… i… ΩĘ̈C]ıÆ˙ 

 iii) J……n˘ ¥… =¥…«Æ˙EÚ |…§…xv… 

 iv) i…x…… U‰Ùn˘EÚ EÚ“]ı EÚ…  x…™…Δj…h… 

 v) EÚ]ı…<« ¥… ={…V… |… i… ΩĘ̈C]ıÆ˙ * 

+l…¥…… 

 +…±…⁄ EÚ“ =z…i… J…‰i…“ EÚ… ¥…h…«x…  x…®x…  §…xn÷̆+…Â E‰Ú +…v……Æ˙ {…Æ˙ EÚ“ V…B : 

 i) n˘…‰ =z…i…  EÚ∫®…Â 

 ii) §…÷¥……<« EÚ… ∫…®…™… ¥… §…“V…n˘Æ˙ |… i… ΩĘ̈C]ıÆ˙ 

 iii) J……n˘ ¥… =¥…«Æ˙EÚ |…§…xv… 

 iv) EÚi…«x… EÚ“]ı EÚ…  x…™…Δj…h… 

 v) +…±…⁄ EÚ“ J…÷n˘…<« ¥… ={…V… |… i… ΩĘ̈C]ıÆ˙ * 

 Describe the improved cultivation of soyabean crop on the basis of 
following points : 

 i) Two improved varieties 

 ii) Time of sowing and seed rate per hectare 

 iii) Manure and Fertilizer management 

 iv) Control of stem borer 

 v) Harvesting & yield per hectare. 

OR 

 Describe the improved cultivation of potato crop on the basis of 
following points : 1 + 1 + 1 + 1 + 1 = 5 

 i) Two improved varieties 

 ii) Time of sowing and seed rate per hectare 

 iii) Manure and Fertilizer management 

 iv) Control of cutworm 

 v) Digging of potato and yield per hectare.  

     


